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Subject: - Distributed Systen (C7743)

Candidates are required to give their answers m their own words as far as practicable.
Artempt AH guestions.

The figtres in the margin indicate Fadf Marks.

Azsume suitghle data if necessary,

Define Digtributed Systern, What arc advantages and disadvamtages of distributed
sysiem? [2+6]

Draw and explain distribited file service architecture. How does that architecture
encourage the sharing of storage rescurces in distributed system? Explain. [6+2]

Dhfferentiate between RPC and RMI How dees modern RPC maintain the transparency
in digtributed systemn? |2+6]

Compare process and threads. Why threads are important in distributed System, [2+2]

Give an example of heterogeneous model of distributed application. Iow is distributed
aperating sysiem realized in practical distributed systems? Cxplain. [2+4]

What do you mean physical and logical clacks? Fxplain Network Time Protocol and
Terkeley Algorithm for physical clock synchronization. Fatd+2]

How does mutual exclusion help in co-ordination in distributed system? Caplain the way
how Lampaort algorithm ensares mutual exclusion? [2-16]
What arc the major objecuives for rephication in disinibuled system? Explain primary
backup mode] for faull wlerance. [3+5]

Differcatiate between nested transaction aed distributed transaction with craniples, How
is commitment ensired in distributed transactions? [2+6]

10. What do you mean by fault tolerant system? What do you mean by Byzantine Failure?

Expluin Byzantine Generals problern to ilhestrate how agrectoent can be reached in faulty
system. Fl1+2+35]

11, Write shott notes oa: {3+3]

a) Comparison ol CORBA and Mach

by Timestamp ordering in concurrency controd

*kk
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{Candidates are required to give ﬁlv:ﬂ' answers in their own words as far gs practicable, -

Attempt Al guestions.

The fignres in the margin indicate Full Marks,
Aryume suitable date ff RECELSary.

L]

. How dn ynu define Distributed System? Explajn with the model, how hardware, data and

comirols mre distributed in the distrititted system environment,
Explain the ways how distributed objects communicate with each other. Differﬁntiaie

~ between RPC and RML

,Deﬁne dlstnbuted file -syslem. Drm!. and Explam distributed file service archﬂer::mrﬂ m

- detsil. -

" Explain the different methods of cum:urrenc}' control in distibuted tansactmns

. K-fault tolerant? How to come agre.ement in fault}f gystem? E.xplam with the appmach of .
© byzantine generals pmhlem : : '

10.

1.

_D‘.lﬁ‘f:tﬁntlale between humﬂgeuea:rus and hetemgeneuus d1str1buted applications wﬂh
example, : w "[41

Compare phym&i clocks and 1ug1-::al clacks w:th its imiplementation semanu:s Demibe
Lamport's imestamp alaorithm with its benefits and drawbacks.

Explain any one election technique in Distributed Syst&rn D15|:uss w1t11 steps how
consensus can be achigved in Distributed Sysem. :

How do you gay that replication is one of the sna]mg techniques in Distnbutad E_f,rstam'?
How to handle concurrent invocetions with object rapllcaﬂon in d1511'1T:ruiJ:d ohject baﬂzd

system? .
What are the roles of atomie coromitment protocol (ACF) in dlstnbmf:d traﬂsachoﬂs? .

What are the dependability requirerents of fault tolerant system? Whit do vou meas I:ry'

Write different services prﬂwded b}' CORBA. What are d}fnamm and stalw In'l.'nc:utlﬂn

prmaﬁbesquDRBA . '_ . AR {2'4;4] =

Wnte shortnpteson - .
a) Precess and threads in 08,
h} Dlstl'lblltﬁd Gﬂmmlt _' v

LR

[2+6)

44 -

[2+t'5]

[2+6]

[5+3]

]

" [216)

{2+2+4] .
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. What are the major goals of distributed system? Expl'gin the need of tansparsncy in -

35 TRIBHUVAN UNiVERSITY Exam,
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Subject: - Distribwted System (CT703) -

Candidates are required to give their answers in their own words a3 f&r a5 praﬂucable R 1
Atterpt AY quegtions, : o

Tha figures In the mm gm incicate Full Marks.
Asstime sufrable dara if necessary.

L

-digtributed system along with the challenges in achieving that. [4+4] ..

How do you coavince that middleware plays the important role in Distributed System? -
- Explain the operation of RPC in client server communicetion in Distributed System. f3+5]

What do you mean by file and directory serviee? Explmn the nperaucn of SUM NFS with
itz architeoture. _ -[3+5]

Why network Gperaﬁng systemn (NOS) iz 'Widﬂl'j’ preferred over distributed operating
sysbems {DOS) in practical distrituted systems? Explain DOS as a middleware, =~ [4+4]

Pefine lo gical and physical cloeks. Explain Lamport timestamp algorithm along with an
example, [2+6]

Present & practical scenario whare vou need an-election algorithm. Explain an elcotion
algorithn with example that is suitable to your scenario. . : [2+4]

Compare passive replication with active replication approach. Also discuss with a
technigue that make the distributed sysiem service highly available. . : [2+4]

What do vou mean by Tistributed Deadiock? Explain the two-phase commmit protocol of
handling distributed transaction, . [2+3]

What ave the flat and pested transactions? Describe the methods for concwrrency control
in distributed system. [3+4]

What do you mean by faults, faitures and errors? How do you handle faults in Disributed
System? Explain process resilience approsch in brief, [2+2+4]

What is IDL? Explain CORBA RMI with its services. ' ' [2+4]

Hkk
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¥ Altempt Al questions.
v Thefigures in the murgin indicate Full Marks
¥ Assume switghle dota if ne::e*.*_»mry

1.

Describe precisely what is meant by a scalable system. Explain distribetion trarﬂ%'pdmnb?

in Distributed Systems, {4+4]

Explain how GFS handles client .raquest'? _ [81; :

‘Why do we have single master in GF'S managing milHons of chunk servers? What are -
done 10 manage it without overloading single master? . '8}
. . ale

Pxplain {he control fiow of write mutation with diagram. - _ | - 8T

. Supposc your company got more investtent so you can now incroase your defanlt

replication oxder by 2 from cument value 3 5a as to make 1t your data more available und

 refiable. Suddenty master hag 1o oreate two replicas of each fHle chunks. Yet, it has to

satisfy client request which are more important thaw just replication. How does smgle
master manage re-replication task? .18

. List and extplain four mais .mﬁStEF i::-peraﬁr;i_ns m GFS;. - o4

' E;ilﬁ]ésin term 'NoSQL". Why does normalization tail in data analytics 'smzx;aricr? f4r4]

Drefine the components that miske up 2 basic MapReduce job and illustrate with diagram how -

foes the data flow through Hadoop MapReduce. L
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¥ Candidates are required 1o give thetr answers 1n their own words as far as practicable,
v Anempt AN questions.
v AN questions carry egual marks.
v Assume suitable dota if necessary.
1, a. Discuss pitfalls of distributed system.
b. What are goals of distributad system? Explain scalability goal in detail.
2. a. Explein Distributed computing systems. -
e I b, Defingarchitectural styles. Describe common architectural styles,
1. a.  Explain diferant centralized system architactures.
b. Discuss super peet in decentralized architecture.
4. a. Discussthe single master aspect of GFS architecture,
b. Enlist GF5 metadata. Why chunk lacations not persisted by master, discuss it.
5, 8. Discuss consistency guarantees made by GFS. |
b. Explainthe |ease mechanism in GFS with examples.
&. 2. Discuss GFS high availability,
b. Discuss re-replication and rebalancing role of GFS master.
7. Define referential transparency with example. Explain mapreduce program execution flow.
e 8. a. Write pseudo code for inverted Index (term vector per host) generation through

mapreduce.

k. Discuss fault tolerance of rapreduce jobs.
3
ik
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Candidates are required o give their answers in their own words as far as practicable.
Attempt Al guestions.

The figures in the margin indicate Full Marks,

Assume suitable dota if necessary.

tNENE RN

[.. Diseuss the impotant characteristics of Distributed Systems. Explain distribution transpareny goal of

distributed systems (3+7)
2., What is an architectural style? Discuss with ane exarmple structured P2P architecturs, What is a
super peer , discuss its usage in P2P systends? (2+4+d)
3. Tscuss assumptions made in GFS design and their consequenees, Bxplain the meladats of
GFS? (6+43
4. Bplain ¢ata and control flow and working of lease mechanish i normal write operation ol GFS.
(1
3. Discuss the main points that MR draws from referential transpareny in functional programming.
With an example of your choice explain the MapReduce programming model. (3+E)
6. Youare given student records consisting of following fields in each record: =~ - (¥

roilnofinleger),department id (integer), name {string), subject codelinteger),score o the suhject (double). You
van assume e debimiter of the ficlds as space. It is required to caloulate the agerage value of score for 2
student and present the average score and total score along with name, department and roline of the stedent
in Lhe gutput records, The order of the output be according to rollne, and if the same rollio appear 1n two
departinants thes by rollno+department. (Note here that the raline and depariment 1ol are integers tot strings).

Write a complete code for mapper, reducer,combinet(if any}),partitioner{if any}in Java language on
Hadoop platiorm. You can ommit the job submission and mports part. Clearly specify (he key/value data
tvpes in each phase.

OR
Write & complete pseudneode for mapper,reducer, partitioner(if any),combinet(if any) along with clear
cuplanation of the key/value types in each phase. {10}
7. Discuss the problems aszociated with parameter passing in RPC. Explain with diagram different
afternatives of asynchranous RPC, (6+4)
& FExplain any 3 of the following {3IX1)

a) Use of multicast commuenication in Distributad systerny
E} External sout is refated with ME programming maee! in Hadoop
) Compression can improve the perfermance of MapEeduce job
dy PZP style of architecture of Cassandra (just diseuss to show the p2p style not the entire
architecture)
T
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Candidajes are requited 1o give Lheir answers in their own words as far as praciicable,
Aiternpt AN questions.

The figures in the margin indicate Frll Marks.

Assume suitable dota if necessary.

. What are the features of Client/Server Architecture? What are headers and trajlers and

how do they get added and removed? Explain,

What do you mean by data switching? Explain asbout various lypes of switching with
practical implementation exarmple.

What is the ditference betwesn Error Currecting and Error detection process? A hit string
0111101 111611111110 needs to be transmitied at the data link layer what is sfring
actually transmivted adler bit stuffing, if flag patterns is 07111138,

Explain the working peinciple of dilferent types of network devices Repeater, HUR,
Bodge, Swilch and Router.

Hnwcanjmudedlmtc 10, 12, 8, 14puhlicﬂ‘addzmmtudcpaﬂmmﬁﬁ,ﬂ,{3mdl)
respectively from the pool of class C with minimum losses of TP? Explain

Explain the UDP scgment structure. litastrate your answer with appropriate figures.
What do you mean by email server? What are the protecols used on it?
Explain the IPv6 datagram format with appropriate fipures.

Explain briefly _hr;:—w.w;r firewalls protect network and also explain different types of Firewall.
Musirale your answer with appropriate figures. '

. What do you mean by Network security? Expluin the operation of Data Encryption

Standard Algorithm?

ETY

[4+4]

(3]

[5+3]

{8}

m

{31
[2+5)
. [8]

L8}

[3+5]
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Candidates are required to give their answers in their own words as far as practicable.

Attempt Al questions.

The figures in the morein indicate Frll Meargs.
_Assume suitable dota if MECESSTY,

L

What dr:b ¥OU mean h}' p‘rﬂtﬂml and m‘terfax:es? Write the pmmml.s used in cach layer of

. ICPAP model. ' [4+4]

How do you define network Tc:pell::gv? Discuss I‘.hf.' types of network topologies based o on.
its size and geopraphical distributions. © [343]

What are the functions of LLC and MAC sub- laver'? Piscuss different fmmg
approaches used in data link layer. '

How data transfer occurs in Ethemnet network? Explain. S (6]
Dhscuss how CSMA works? Differentiate it with CSMA-CD. Explain the optical fiber
- cabling standards with examples. . : (2424
6. What j8 virus circuit switching? Degeribe the operation of mee-Relay nEtwork, _ [2+4]
7. Differentiate between adaptive and mn—adapuve rouling. Fxplain shcneat path finding
. algorthm in link state routing. . [3+5]
B, Compare between leaky bw:ktt and token bucket algm.ﬂlm with the ﬂpe:raimn haw token
bucket works. - ' [3+5]
9, ,What are the major problems with Exlstmg IPv4 netwr:nk"? Explain Pv4 addressing and
- sub-petting with example. . . [a-4]
10, Write short notes on; o R S [4H4]
" a) ALOHA system ' . - .
by TCP header _
. - A T
.36

[242+6)
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v Candidates are raquired to give r.he:u* &mwers in their own words as far as practicable.
v Atrenpt Al questions.
v The figures in the margin indicate Fril Marks
¥ Assume suitable duta [f necessary. '
1. Explain the need of Networking Software in the form of Hierarchy? Mention in which
tevel layer of 03I reference mods! following tasks ars done., {jﬁ‘:'gl
- i) Timing and voltage of received signal
i) Encryption and decryplion of data
iii} Data framing :
iv) Point-to-peint connection of socket,
&, Defing switching and oultiplexing. Diffarentiate between civcuit switching and packni :
swiiching. [4+4]
3, Explain different types of Data link layer framing mechanisims.
4. What is the contribution of sub-netting in 1P address management? Show the impl:rrtﬂnc:’:
in this case. Banijya bank need to allocate 15 IPs in HR departement; 30 in finance
deparmment, 24 in customer ¢are unit and 25 in ATM machines. If you have one nctwnrk
of class C renge pubhc IP address. Describe how you will manage it. ' - [2]
5. Why is rowting PI’DtﬂCDl DECSsSary | E.)q:rln.ln the working peocess of Rauung Information :
protocol (RIP) with example. [3+5]
& Why do yon ﬂ:_l_mk that there exist two protocols in transport layer where as there exists
only one protocol in Enternet layer in TCPY/IP reference model. Explain token bucket
algorithrn for congestion control, {5+3]
7. What is HITP protocol? With an example explain how a fequest u:unatﬂd by a HTTP
cliznt is served by a HTTP server. [2+6]
&. Explain the IPv6 dalagram format and the function of each feld with necessary Hgure. [B]
9. Compate symmetric key encryption method with asymmneiric key encryption. Describe
the operation of RSA algorithm. [4+4]
0. What is network security? How can firewalls enbancs network seurity? Explain haw
firewalls can protect a systern. _ _ [2-2+4]
LE ]
.35
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Candidates are required to give their answers in their own words as Far as practicable,
J#ﬂmpfdﬂf qrestions.

The figures in the margin indicate Full Mari'n

E-S"Ei}me. switable data If recessary.
r f

“Why are the network softwares defined with distinet layers stacked on top of one ﬂnnﬂler‘?
_‘I.‘u"hat are the factors 1o be eonsidered when designing these layers?

between RATD 0, RAID 1 and RAID 5.
What is a telephone? With a simple c]mgram of a telephone network explain how the

‘wystem works,

Why channcl access mechanism is important in compufer networking? Explain the
operation of IEEE 8025 with its frame format,

Differentiate:

a) Ihstance vector and link state routing algotithm
by Cireull switching and packet switching

What 15 3257 Expluin the format of X.25 packet in detail.

What are the differences between TCTP ﬂ.nd UDF services? Cxplain the TCP dalagram
format in detail.

Suppose there are 4 departments A, B, C and D The department A has 23 hosts, B has

[2+6]

: _Wh}' do we need RATD in the cnmputcr tetworks? Deline and discuss the differences .

[2+6]
[2+ﬁ'[

[3+7]
[2%5]

[3+5]

[3+5]

16, C has 28 and D has 13 hosts. You are given a networks 202.70.64.0/24. Perform the -

subnetling in such a way that the TP address wastage in each department are minimum
and alsn find out the sunbet mﬂsk nﬂh‘.ﬂﬂ{ address, broadeast, and unable host range in

each :ie;:ramnant
Write sthrL nutes o1,

4} Network Secarity
b} Router and Gateway

FEF

T o

LIG]

- [2%5]
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v .:Caﬂdldatcs E‘I.I‘E— required to. give their answcrs n thmr ownR wurds s f;u’ as practlcdb]&
v Attempt Al quemom'
v Thé figures in the margin indicdte FuH Marks. |
¥ Assume § nitable data if necessary.
1..__"~'~.fhat 1s.2 swuchmg? Blff‘erenlmle br.:twacn packtt 5w1tchmg and circuit switching, [2¥6]
v -'Wlmt are 1}’]:&':3 of lwmteﬂ pa:r cablc? Caleu]atﬁ the ef’ﬁcmncy of slmu:d Aloha. ' -[4+4]
) 3. 'What i5 8 virtial LAN? Desig a netwotk which consists of two VLAN named studem
_ and dﬂparhn&m Explam with necessary diagram, IF addresses and configurations. Cf2ZEG
B ’What i a logical address? You ure given the 1P address block 200.10.80.32/25. If there L
. e five departments which require 3, 40, 28, 12, 6 hosts respectively. Des1gn the Subnct [2+6]
5. 'W'kmt are the fl:tnctmhs of t ‘rra.nspo. i 131:,;#::1"'J Diraw the segmenl stracture of TCP, 7 "[3+5]
6, Whatisa tragme:nt&tmn and re-as semmbly? Explam about any intra-AS routing ]}mmcul [3+5]
7. _Wh_a_t arg the advantages of 1IPVE? The maxirmum paylﬂad %gmunt is 63495 hym Why
'+ was such strange number chosen? - . [4+4]
£, What 1s the function of proxy server? Explain about etecironic mail, - [3t3]
9. What is a secure socket layer? En.rypt the message “DANGER” using RSA algotithm.,  [2+6]
1412

Compare x.25 and frame reiay network, A bit string G111101111101111110 needs to be
transmitted at the data link layer. What is the string aclually transmitted afier bit swffing?  [6+2]

xkk




lannHEGFENGmEEMNG Leved [ BE T i Folarks |80
Examin atl on Control Division | Programme | BCT | PassMarks {32
-2067. Ashadh Year /Part 'IV/T } Time 3 hrs.

a1 TRIBHUVAN UNIVERSTTY | Exam, - T " Regular/Back

Subject: - Compute:r Networks’
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Canmdates are required to give then' answers in their own words 25 fir as praﬂucah]ﬂ.
Attempt All questions.

The figures in the margin indicate Full Marks.
Assime suitable data if necessary.

- Why network software should be in hierarthical form? Explain in detail about OSI layer.

If you are assiyned to design a LAN for Puluhowk Campus having 5 departme:ms Each
department will have 100 computers locating in 5 rooms each equipped with 20

computers. Make wvour -own justification while selecting conmecting devices and
ME&ES‘DT!EE

What do you wmean by ISDN and what is 11 contnbuhc-n in the field of "data

communication? Explain . varous . types uf muIﬂplﬂ}ung mechanidm used in - - .
= [3+5]

COMIMumcation.

Deambe what do “you understand h:-,r sw1tch1ng along w1th various types of switching

- Why accuss ccmlml of channel 1= essentml'? Lcmpare operating details of [EEE 3032, 4 and

IEEE B02.5.

6. Explain along with the packet format about the virmal cireut connection of X.25,

Why routing is essential in computer networking? Compare working of distance vecior,
routing atgorithm with Ink state routing algorithm,

8. Explain in deta) about IF frame format,

1f you nced to assign IP addresses to all compuiers of question no. 2 making cach

department as : hetwotk. W]'_lai will be your approach? Explain with 1P address ranges vou

e Suggr::slmg

10, How"the protocol S operate? Expla_in the pmeaﬂmm to make your network

secured.

Hik

[3+5]

[6+2]

[4+4]

[2+6]
[4+4]

[3+5]
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~ Capdidadss ars recuizsd 1o give their arswers in their own words as S a&pracﬁcable,
7 Attempt A queestions, .

0 Thefg..:rﬁs in the murgin imdigate Fulf 'ﬂ'urffs

¥ )

vy TCRP Mressaze Tyvpes

'AJsume suftahie dont frtece.s‘.mr}r

“10a) Wa}.r du cdmmumnic al.mn PrucEss Wﬂ.h_m I:ﬂmputer nEtwork & iy leld.Ed ]ntﬂ ]aym&'? How
* the process of data encapsuletion dccurs M fransmission mede described by seven
layers of 031 model. Compare Q81 rnedsl.wita TCPII_E' model. . . . ’2-:—21-4]
by What"is client/séiver netwotking? Explain Actlva thwnﬂnrg mudel ﬁﬁmcwur]{ :
) _Larq,pdnﬂ,g sz'I:L trﬁd.l"um&] luga{:_}f u:f\-.--;:urk A o R - [3-‘-5]
1. a) What arz the services provided h}f dats Enk ia}-::._'? Explam a.n;-.f one e [mds of
fl!'EIl'Ell'l‘-T and floar cﬂnt:’ul L ) ] . . N
SR by Caiculate SWE. and maximuam -:1":1_'mr:1 capac Lg.r of 2 a8 channel-having bagdwidin .
100 MHz with 2mW and 200 1% 22 sional and noise poker respactiveli. : Ta=47
Y3 ) Describe the §72.3 Etherner standend e CEMAYC and comperc it vith 802.4 tokza
K Bus tgcinelegy. Explain how DS5S techmique i3 apolicd mwirelass rAanSmIsAIcL [3—2]
1 BHlfereptiate betwsen-coolit swateiuan and packet swilczing. techinciogy. Explan (he
opcoalion how swiched wirtual eircull it ame vsiay petwurs 18 estahlished,
raairt e s taardomer. [2-&]
A ad Whal s unicasl and mulicast tontne? DestiRE the cotespt af aptinzlise arinciple.
“Dresoribe Lo fie poaters. s 00 118 routing come ine Lully sdisccnsy slie [2-4]
B “What arz (ke fa:iors thal canss Gongssion within WANT Propese vous bl ireliie
shaping approacs to wanaye coTgeslion in packa: switched netin k. [1+5]
3. 2! {rive the reazon why the sumenl world is movisiz.to 'ﬁ_ﬁ addressin g mechanism,
. Dscnbe the PG addsess typos wilh dtz Teprasentation f'm;n.-* Yoo acs giventhc l'Pwl
' ad-i':css black 203 T133.02G; assigrthe £ subret ﬁ.'nf rhe [llawing -mr-‘;mlc o2
"t TTFISTE: o fests '
e . - . . . £?1§$ .
NF‘I‘A E Hosts f ek ED 7 Hosey
l% 13 / . o
Hatm: 32 Hosrs
By W Eth‘t Tiotes or [Any nval ) . Sl _'53'5'31

i) TUP blll:lzn_g_ Windgw Protceol
[L‘r Secrete Fow _:'-;ngnrlm_m: DI._
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Subject: - Cumputar Network

Candifdates are raquired i give T,h-.-:1r AL§wErS m their own words as far as ;Il'&':.,;ltﬂblﬂ
A".temprAngemom .

The figimes in the margin ndicate Fu_t’f Marﬂ:; _ -
Asrume uisT e &ﬂt‘ﬂr{; m.::-s.s.sary A

B

,Def ne retwork and prt::-tocul fur n&tv'mr[c Explsun p..-“r—TU-—ptt:r DETWOrY pmcess with '

‘examyile. o o L I8
. D«..smbc guld-:d a.rtd mpsided media uscd in computer . erwork WJ.TJ'; fheir a.d*rautagts - [3]
. Explam the npm'ahon of pure ALOHA S}rstcm How CSMACT dorks? ~ - S £ £ bR

4. List the funetions of Tty Eink Cantrol Layer. Explam ALY TWO eliding mnduw pr{:tuculs )

. mrith the adv:mtagﬁs of pligpybackang, - ET3] _

10.

L iresvribe - the policies that helpic prtvt:ntmg ‘Thz -:.nngamnnq within: £he netwoirk?

- Drifferchtiate botwesn leaky tucke: -and tnk“n vucker a'garithm with. l‘1n:1r aperaion and-

" working of token buckst, _ : [4+4]
“What do your understand oy m'tua] u:m.ut awarclking? th]em e X253 wirtual cireuit

“switching, . {3+6!

. Expiain the seven lavers ef 337 mncdet wity their examzle prownenis:© 1]
brefly describe” TGME iy unst " formational message ypes in [Pvi notwork

i:lLi'E:ill'L:E"L]I'? : o : [B]
“How van we maintzic the secunity within the camonunicalion nsl work? BExplain any ons

cryprowsaphy alaesizshm with sgample, _ [2eh]

wote short notes oo (any twolr | . o ) ) T3]

- ) UDP afid its application = 2.0 R
“ b Metwork Devices: Tlubs, Switches zad Rﬂutc*s )

e IPwd -[ead-:r Slruchers

EFE]
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 Subject - Digital Signal Analysis and Processing (1704

" mmm——————

¥ Candidates are requited to give their answers in thedr own words as [ar as practicable.
¥ Attempt Al questions.

¥ the figures in the margin indicate Full Marks.

¥’ Assume suitable data if necessary.

Determine which of the following signals are periodic and compute their fundamental
period: i3]
i} Cos(nn'8)

i} Cos(n/2) cos(mn/4)

—

2. Find owtput, ¥(n) when: hin) = {5,4,3,2} and x(u} = {1,0,3,2} 6]
3, List cul the properties of Region of Convergence. [Find the Z-transform and Jocate the
7" ROC of the signal. : [2+4]
1y "
xfn] = [— -—] wnj- [— { u[-n—1]
3 3
4. Find the ouiput of LTI Sysiem having impulse response [4]

h[n] = {1/3)" u[n] and input signal x|n| = SR fora < n <o,

5. Plot Magpitude Response (nol 1o the scale) of the sysiem deseribed by difference
equaton. y{n] - 0.3 yin-1]HL225¥[n-2] = x[n] — 0.5x{n-1] fo]

6. Descrmine the Cascade Form realization of the following sysiem. |4

}r{n]—%:u'[n —1]+%}f[n —2]—x[nj-2x[n-1]=0

7. Compute the lattice coefficiems and draw the lattice strueture of following FTR system

H{zy=1+3.0z7 #5527 + 4227 + 2327 [64
8. Describe how FIR. filter can be designed by window method. Discuss the characteristics
¥ of different type of window function, [4-+4]
9, What is an optimum filter? Show maihematical expression of Remez exchange algorithm
for FIR filter design, [1+6]
10, Using bilinear transformation method, design a digital filter using DButicrworth
approximation which satisfiers the following conditions: (1%
0:85[He™ [ <1 for 0<w<0.2n
|H::j"’ | <62 for 06msw 5
. o . 0.14+0.427"
11. A digital LPF with cut off frequency w, = 0.2575 n is given as H{Z) = - -
' 1-0.627 +0.1z
Dresign a digilal high pass filter with w', = 0.3567m. : [5]
12. Define Padding zones, Find 8-point DET of sequence. [1+a]
T oxIn] = {1,L0,0,1,1,2} using Decimation in Time Fast Foutier Transform {DITFET)
alporithm. .
13: Why we need DFT? State and prove Circular Convelution property of DFT, [2+2-4]

L1
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v Candidates are reqmred to give their answers in their own words as far as practicable.
¥ Attempt All questions.

¥ The figures in the morpzin indicate Full Marks,

¥ Avyume suitable daia if necessary.

1. Plot the sequence x[n] = u[n + 8] — u[n - 43} i3]
2. What is the period of following signals? 4]
{g) xin] = cos {Er 1)
{xnl= e" n
3.What is & sampling? How are the spectrumn of continuous time signat and the spectrum
of sipnal obtained by sampling the continuous time signal related? [luatrale with
diagram. ' [6]
4. Write about the following properties of discrete time system: :
[a] linearity, [b] Ume invariance, |c] memory, [d]cavsality [e] stability. 5]
5. Find the frequency response H(e#™) of the system characterized by difference
equation yin] — 0.8 ¥in — 1} + 0.15 ¥in — 2] — x[n] = 0. Plot the frogquency responss
of the system. - f4]
6. Realize the systera Function
1
H{z) = . . —
(1-0.52-13{1-0.7¢ 321} (1~ 0.7ef32-1) (1 - 0327
- in-temg-of cascude of second order sections, Draw the block diagram of the cascade
realization. [&]
7. Write about the sign magnitude and 27s complement representation of binary
tractional number. Write abaut iruncation error and rounding error. i8]
8. Describe digital Butterworth filter design using impulse invariance technique. What
are the limitations of impulse invariance technique? [151
2. Derive the expression for frequency response of symmeteic linear phase filter of
length M, where M is odd. [6]
" 10 Use the Hanning window o df:sigﬁ a digital low-pass FIR filter with Pass band
frequency (@)} = 0.257and Stop band frequency (m. ) = 0.3 (¥

11. Pertorma circular convolution of the sequences x[r] = [1 0 1]and Rin}l=[1 0 Z 1. {5}

12. Write about multiplication and convolution property of Mhiserste Fourier Transform. (6]

13, Draw the flow diagram of four peint decimation in time Fast Fourier Transform

algorithm. {4]

FE=
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v Candidates are required to give their answers in theu' own wnrds as far ag prac‘tlcahle
v Attempt-All guestions. . .
¥ The figures in the margin mri.':-::are Fuﬂ Mur.i’cs -
¥ Assume suitable r:!‘am if nace.smr}f '
1. Find the tm.:m}.f anct pawerof the signal :([n] =u[n]. [3]
-2, Find the period of the signal x[n] = Z @ &n - 2 - 3m]. Find the-Fourier serics -
mefﬁclents of the signal x[n]. : _ . o I6]
3. Statc whether or not the system y[n] = e is {a) linear (b) time irvarfanl (¢) me.mury!cﬂ
(d) causal. thre Xfn] iz imput to.system and y[n) is nutput of t.}'btem _ . [5)
4 Convolve tho scqumcc:s x[n}= 3"u[-n— 5] and ¥[n] = ufon -~ 5} o . SR s
5. Find the frequency response of the ]m&:ir umﬂ uwana:nt S}'St&m characienzad by. - -
difference’ eguation {n] —1—3,*[11 —i] I—z—}f[tl —2]=xfn}. If input to the system is
x{n] = sin Lg n) + Sin[jE n] then delermine uutput vin] of the system. _ (7}
3 . . .
6. Realize the overall systemn firmctian; . 9] -

1 ; i
{1- "z Wl — z 31— ¢ 3z }
Htz)= 5" 3 5

(1 —-’-4?,"}(1 - 1-;.;‘53 -,f.“‘,n:! - _z"){z - 'e_}?z" g

Tﬂ terms of dirsct from I and direct from II structures. Draw LhL LUITEE.puqJ;ng hlogk
iz oo of direct fram T end dirvect f.*:-rﬂ FLafrictimes, -

How the spectm of continucus thne sipnal is relatad 1o gpeclnm of corvesponding
discrete time signal obtained by sampling the continuous time signal? Explain, Dlscuss o
what is aliasing and how Tt coours, _ - (8] -

8. -If passhand edge frequency ., = 0.25%, stopband edge froquency o = 0.45m, passhand

npple 5.1 —{}.17 and stopband npple &, = 0.27 then desi gn a digital Iowpass Butterworth
filter using bilinear transformation tec:!mnque - , [13]

3 Use Blackman windew methad to design a dhgital ]nw-pass FIR filter W]th passhane edoe
' e fTEqUEnCY @y = .24, stopband edge frequency w, = 034 whereTiain ]CI']JE- width of :

Blackmeaen window is 127

I I filter length. L o |9}

1 Use the Fast Founer T ramfurm decimation. 1 [reouency algv::rnthm 1o ﬂnd the cdiscrate .
" Fourier Transform of the sequence x[n] = [1 -2 2 1].. L : - []

ok
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" DIT-FFY for the following sequencia:

¥ C&ﬂﬂlﬂﬁtﬂﬁ- aIE IEquu:ad to gwc their shswers in thelr W wmds as far as practmﬂble
v Aﬁen;prﬁ.ﬂ questions.. . -
¥ The fimurer fn the margir; mdrcare Fuﬂ Murh
¥ Asyume suitable data if i necessmy .
1.'_Fmdﬂmwmandaddpaﬁnfmg:ﬂx[n] _ | S (33
for=4=n <0 ' Lo
. _ nd= { o forl €n £ 4
2. Nlustrate the sipnificance uf convolution summation in digital signal éna]ysis Compute _
the convalution of the following s1gnal.1. ]:t(n} {1 0,1} and x{n} {I 2 34} - [2+4]
3. Define Region of Cnnvargeﬁce Find inverse Z - transfora of - S
X(z)}=2H{{z- Dz~ 3; LROC:|Z] <1 ' L [1+5]
. Fven Hiz} fﬂr A system with the fﬂ]lnmg difference eqmaimn _ S
¥{n) =x{n)+x{n -2} ' : [2+6+2] o
Plot its pulm and zeros in 7 plane, Dererming itg magmmdt tesponse. Also, dEtﬂHﬂl‘l]ﬂ
- whether system is causal and stahle ' _ :
Draw lattice structure for given puIe ZEID Sygtam ' - e ; [5]
Hiz)=(0.5+22" +0.622)/ - 0327 +0.4277) _ '
What do Yol mean by Limit Cyele? How it occurs in recursive system? ' [1+3]
‘What is the condition satisfied by Linear phase FIR filter? Show that the ﬁltf:l‘ with '
hin) ={~1,0,1} is a linear phase filter. [2+4] .
- Ufae Haning window msthod to demgn a digital low-pass FIR filter with pass-band edge' o
. frequency {w;) = 0.25m, stop-band edge frequem:}r {wg 0.35m W]!.E:I‘E m:a_l_u lnhe widthof
Hanning window is 87/M, M is the filter length. _ S [9] =
Why Spectm] Transfon‘natmn i= r::quxmi? ' _ L [21
Design a low pass digital filter by Lmpulse invariance meth-ad to an appmxmmte
Buttgnwrth filter, if passband edge frequency is 0.2 « radians and maximum deviation of
0.5 dB below 0 dB gain in the passband. The maximum gaih'of -15 dB and frequency is :
- 035 7 radian in stopband, consider sampling ﬁ"equen{:y 1Hz. . [13]
Why do we need Discrete Fourier Transform (DFT) a.f.hough we have Dlse:rett-hma o
_ quler Transform {DTTTy? l"]nd eircular convolulion thWEEm _ [2+5]
x[n] {1,2} and y{n}=ufn]-uln- 4].
Tz

Huw fust is FFT? Draw the ‘hutterﬂ} diagram and mmpute the xralue u:rf x(7) usmg 8 pt :
. [2+6]
AL ER K U,{}.ﬂ,ﬂ.ﬂ,ﬂ} -

wk¥
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Candidates are required to give -.he:jr angwers in their own Wﬂrds Bs ﬁr as prachttable
Attempt AU questions, L : "
The figuras inthe margin ma‘}cm‘e F uH ﬁfark&

Asrume smrab? data if nece.rsary _ e

A

Define- Energy and Puw t}rpe mgﬂal with smtable E‘.}LEmeI.E Che.ck the . signal _
}{[ﬂ]_(:ﬂs{?nm“‘}-i-ﬂm{ﬂ 1:!3} is penucttc of pot. . R [2 +2]

Define LTI system. - Fmd the output of LTI system ha‘l.rmg mpulse TEEPOISE |

h [2] = 2u'[x] - 2u [0-4] and input signal x [n] = (157 w0 [1+4] -

State the prnpemaa uf mgmn of cnnvarg&:nca {RDC}? Derive thf: tirhe shiffing prﬂpﬂl‘ﬁf Df

Z-ramstorm.. | R

Why do we need Difference Equaunn'? Deaw Pnle -zero in EFPlanc and plot 1 agmtude

- response (oot to the scale) of the system described by difference aquatmn T [2+2+6]

¥ [n}- 0.4 ¥ [n-1] +!J 2y [n—?.] = x[n] + . ‘.lx [11~l] -0.06x {n-2]
Detemlme th: Direet. Form I reslization  of the following . S}'sta_!:_rl -

- y0a)=-0.1y (1) + 072y (n-2) + 0.Tx(n) - 6.252x (n-2) - _ 4
Cu*‘upute the lattr.ce mefﬁclems and draw the lattics stmctura t:rf follcrwmg FIR systam, _ L
- Hizy= 1+2?' “3ztrag? - ) [6f -
. Deslgn a dipital FIR - ﬁlter for the demgn of the ln:m p&ss filter hmrmg B .
- op= 0.3, w5 = 0.57, o = 40 dD nsing suitable window function. . . L
'.‘El."hni is optimum ﬁ]t::r'?‘ Descnbe Rﬁmez exchanga Elcrum‘.hm for H_R Elie.r debiom U.-'lth e
" flow chart. o (1+6]

. What is the aﬂﬁ,a.ntagc of bilinear transfmnanun" Demg;n a lmv pass discrets time -

o -Euttf:rwnrth filter applying bilinear tiansformation havmg Sp&CtﬂCEtlﬂﬂE as follows: - [2+'51+4] o

. Pasg band ﬁ‘cquenc}f {wg) =0 257 radiansg

_Stop band frequency (wo) = 0.557% ra-:hans S

. Pass band tipple (8,) = 0.11 N L e
- And stop band ripple (3:) =021 © ' I

' __-Consﬁer sml:rlmg fre-quencv 0.5Hz

o Also convart the obtained dzgw.tal l-::uw—pass ﬁhc:r o hlgh-pass filter wi h neﬁr pass band
_ ﬁequﬂnmr {w'p) =045 u:;m;_.s dlg;tm domain transformation. _ : :

10

1t

W’Ly do we aeed I'T'TY Find E—pmnt DET of sequence x [n] = {l 12 21,12, 1} usmg

) Decimation in frequency FIT (DIFFT) alporishm, o [2+7
Find xadn] if DFT of xaln] s given by Xalkd = X (k) K;[k} whc:a LAY and Ha(k) are’ :
4-point DFT of x:[n = {1,2,-2} and wpfa] = {1,2,3,-1} respeciively. - S L1

T . - - -




idi -" Eack

i AL L e o W TR e
CINETITL LR OF ERNGINEZR TG Teval sy SRl Murks | B
Examination Conirvel Division | Programme | BCT , Pass Marks ! 32

20687 ._‘Ir"[ﬂl"lg&ir Ye ir ‘F::rr ! "‘-,l'.-' i l 'Iu]l;, B -

S_ufljﬂﬂ - Dlg ['3] ‘-slgn?l }‘m”hsw and Prur v:““:.l*l!lT

v Cendidates greroquirud (o give Cieir answers 1n thelr awr wor Is s f T as [Eac tczble. -
v Autempi Al FuEStians. e
v The figurés in the w{'rgm Indicate Full Marfc.'.

« Assigme suitable data i necessary

*

Compute and plot even and odd component of the aequance x{nj = ,1.:[11] - ?u[n - 4]
where u[n) is umt SIER SCqUETCE.

R

2. Write whether or not the following sequences are periadic and wrile the ]:uf:nc:d

| a} 'x[;a]=_m$[-?n]

b]._., -x[_n!J - sir{% +%] |

3. Find'ghe disurete Fourier coefficlents of the periadié sequence with peried N = 11 defined
L infs2 . . .
0, 2<|nl<s '

Y

" aver a period ag x[n] = {

4. ‘-;l*nw whether or not the systern y(m) = nx[2(n - 23}, n > 0 is (a} hnsar, {hj time mvariant,,

{c} memorylass.
5. Find the SYStem functiun H(z] of the system characterised by difference equation
}r{n]uhy[n 1]—— vin—2]— X[n] 0. Find the pnles and 7eros of the gystern, Use the

pole- ZETO dlagz:am to plot th& approximate ﬁ'ﬂquﬂnc}nrespnnse mag;mtude of the systf:m

(‘_5 ][1—1 ]ﬂ(l_i J ,
e

- terms of cascade of second order sections. Draw the block diagram of the vascade
Tealization. - _ : T

6. Reafize the system fanction H{z) = —'

7. Show by giving examples that the qusm‘rizaﬁnn 'EI"I.D‘[ b_].f fruncation for sigﬂ magﬁm{le
. numhar Stsms lies in the range —['2"1” 2P ] = {(2'1’ E_b“} and that for the 2's

'- cnmplf:mfmt numhﬁr Brze, Hes+in the range —(27 bt "'j = aﬁ-'-‘rﬂ hu is the numbm of .

bits hefora qua.uhzam:rn and b 1s the smmber of bits after quantization.”
-.HGW dnas an ITR filter differ from en FIR filfer?

14)

14

iy



G Find the system function for digital filter wsing inpualsive Invanancs tzehrague from the
' 1

analog  Butterworth  filter transtzr ﬁmctimi His} = — .
. : e ™
fs+1.30= -1 ’5& 1 JH=-135 3 }

T = l qecond and draw the block diagram of the svstem function, Hiz), rezlizsd m terms

t- .:H-'n'nrl R e [
ooT R RN

1), Show that e fiter with impulse responss h[n], § £ n s N -1, where h[u] — h{N - - 1],
- ig a linear phase filter, .

1. Use the windew method to desipn = digital low-pass FIR filter with Pass band frequency

(we) = 0.25m, Stop band frequency (w,) = 045 W1th stop-band aitcnuatm. of at least

54dB.

12. P_'Elfi}l'ln eircular conVﬂiutit}Il of the sequences x[n] = [1,2,1], ¢ = n =2 and
xa(n] =[1,2,0,1], ¢<n<3. ' '

. 13.The duaht}r pmpenty of Discrete Fourier Trsmsfﬂrm {DFT} is, 1f x[n} X[k} then

_ X[n]—LE nx[[—k] 11 For input sequence x[n} an algunlhm can compute DFT using
2:‘ - !
By
the formuka X{k) Zx [n]e "W How can this same formula be used 1o find mverse

discrete Fourier tlE.‘ﬂEﬁ:lt'IIl (1I3FT) of 1input saquenc& as X[kl with output sequence as x[n]
(usc duality propesiy)?

LR

NEY

(&)

&1
L-J

[3]

(8]
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Candidates a2 required to give their answers in thelr own words gs far gs prauuablc:

Artempt AU gueiticns,
The figwres in the marain indicare Fe.:ﬁ Marks.

Asinme sutable data if necessary.

Plot the sequence k(n} = u{n} —ujr—5) + 5&{n- 6} + nuln - 7y - nuin— j wh-:.e qfn) 15
the unit step sequence and 4(n) is unit smnp[e seduence, -

Write whether ot not the ifullowmg sequences are periedic and write the period.

3n : .
a} x{h} m{g_m-i] ] R

Find the expression for disercte Fouricr saries of the sequence
x{n) = _Z {n — dm}.

Shm'. whether or nol the following systems are {a]l lincar; {b} time invariand, {c} cauzal,
{d} memaoryless, (¢ BIBO stable. .

a_] }-‘{II_}I-= zhgg{x[n}}+zlagz{::n)]

b} ¥(n}=sin{x{n}—x(n-1}}

Perform citcular - convolution of . the saquances x.{n} [],2], D < n =<1 and-
1{1~\—I‘"1"f-'|["-']—-r:1 ' -

[

Show the compitation of DFT of sequence x(n} [1,34 5] ﬁsing dé_ciﬁaticn inime FFT
algoritiun and find the values of X{k). - .

Let a systemn be characterized by differenee equation.

wn) —0:5w(n - 13 - 0.25%{n - 2} — x(n) = &, where iﬁput'x{n] = 02" ufn), initial
conditions y(-1) =2, y{—l} 4, o . '
Find {a} zero input respunsn of the system, (b) zoro state response of the system, {c) tulal

rosponse of tha system, {0} system functicn Hiz) (e} poles of Hiz)

Find the .I_attiqc-ladd-:r filler structure for the LTT system with system function.

L + 12_1 + l 2._1.+éz_]'

L 3T Yy : . _
H(z}= #= o -
— "1+%z"+%?'2+%2'3 _ o S

(191

4]

5]
{10}

[5]




2

For the first order filter, ¥{n) = G4a ¥(n - 1}] 1 ={n}, the product tenr "2 ¥in - 1)" las
heen guantized by rounding it to 3 bils. ¥w(—1) = @, %(n) = 08738m), a -~ 0.5, Shiw
whether the flier gees into limit cycle. What 1 the peniod of Imit cpcle?

Design 2 digital low-pass Bultcrworth filter - using . Biltincar iransformatien. Filler

soecifications are as {ollows: Pass band frequency (ml}} = 0,5, Stop Wequancy

© [wng} — 0.4m, Pass band ripple (3,0 = 0,11, Stop band rigpls (35 = 0.21.
a) .Find the order of Talt2r {M)
by Find ihe eutodf frequency () -
¢j Find the poles (g3 o 1he bquarcn mapriude eaponss of snalog Bullersearth Altér
d} Find Hiz) ' '

<y Find the tligllal Bullerworlh (kter H{z}

CDesion a |:hg|ta] lowpass FIR filter with the following specifications using. Kaizer

Window._ Pass barid frequency (o) = (0230, siop band frequency {mg = 065, Pass baur.i
Sppla SR =008 Sean kand rinnls (5. =0, {}35

Py

a} Tind the order of filler (V)

) Find the cufl frequency ()

c}. Find the value of shape paramete: (B)

d) Find Kaiser window {w(n)) .
"g] Find the filier iinpulse response {hind)

Svme modified Bessel fanction values are as given below.

% 0 - [13165 [ 17257 | 1.8435 [ 19271 | L% [ 18903 2
B 1.4826 | 1.B926 | 20508 | 2.1675 | 21718 | 2.2647 | 2.2796
EL T
e
-
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Whai do yoil mean By ingentive” Expiain differeni favtors of salary st

Thefing, 'nutw:»mm aad prld n difierent & “ec.n'uqup of taotivation,

Eom

Define lc'ldersfup E!I‘Llj ﬁp ain <Lt h_rv::n; yualivies nf aocd teader.

H] Hnw 1nfunna£1un 8y sicm au,J; Sary R taTy tunutmnai arga of managameni.
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17 TRIBHUVAN UNIVERSITY mnm_m
INSTITUTT OF TNGINEERING 'Level | BE | Full Marks | 80 i

plevel S 80 __
Examination Control Division ; programme EE‘I&? BT | Pass Marks 32
R iyt Loio i AR RSV NS
2070 Chaitra E Yeur/Parl ' IV/1 | Time AL
Subject - Organieation and Management (MEFOY)

¥ Candidales are required to give thetr answers in their ovwn words as far as practicable,
v Attempt Al questions.
¥ The figures in the margin indicate Full Marks,
¥ Ascume suitable data i necessary.
I. Describe why organization 15 considered a3 an open system. Explain the importance of

organization. [4-+4]
2, Name the different models of management. Explain any thiee of thern in detail. [3+5]
3. State and describe H.Fayol's administrative management theory. %]
4, What 15 meant by ‘Joint Stock Company™? Deseribe the procedure for formuing “Joint

Stock Company’. f3+3]
5. Define marketing, adveriising. Explain the function of purchasing in detail. [3+5]
A, Define the term pessonnel management, Explain the function of persnnal management. [3+5]
7. Delne metit rating. State and describe the various methads of merit rating. [2+6]
8. What do you mean by human needs? Describe A. Maslow’s hierarchy of needs theory in

detail. [3+3]
9, Define leadership and explain by Blakes and Mouton’s Management Grid. [3+5]
10. Define Management Informaton System. Explain information support for fanctional

areas of management. {2+6]

##+



12 TRIBHUY AN GNIVERSITY P New Buck (2066 & Later Batch)

_ INSTITUTEOF ENGINEERING | Tevel - B Full Marks_{ 80
Examination Control Division | pogramme EEE“ BEX | pue Marks | {32
2070 Ashad o Year Part |1V i I___{__Tlme : : 3 hrs. .

Subjeci: - 'Drganizat.ien & Management (ME705)

¥

v Atternpt any Ten guestions. -
v' The fimures tn the marei indicate Fudf Marks. _ -
v Arsume suitable darg ;f naeesa'ﬂry . .
a1 what are £he pnﬂcrpies clf Drganlzatlen? Ex_plarn the Irlfemalﬂrgamzatmn*’ o {4+4)
T2 -Exp]al,n the |mpertanee pf ManagemEnt and ﬁ:scuss the dlﬁerent function ef {(3+5)
S Management T
3. Explain’ Admlmerratwe Management Theory. . =~ - '- ’ (8
& What do you mean I:ryr organization structure? Explain Line Drgamzatren (4+4)
5 Define the term purchasing. Explain different function of Purchasmg ' {3+5)
. department. : :
6 Define the term Parsonnel management and explain its funetmns . i)
7 What do you mean by incantives? Explaln the different fai:tors aﬂ‘ectmg the {345}
. . wage/salary structure. :
R .Define the term Mativation and explam different te::hmque of metwatmn (3+5]
o Defing the term leadership and Explain the dlfferent qualities of good leader.  (3+5)
10 2. Define the tem Entreprensurship, {3) .
L. b.Explain the Yroom's Expectancy theory of Motivation. {5}
e T What do you mean by Case study? Fxplain the objective of case study. {4+4}
PR 12 Defirte tarm MIS. How informatian support for functional areas ef [3+5}_

1 R

Candidates are raquired to give their answers in their own warris as far a8 practicable,

r’nanaﬁ'elrﬂem"rr
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12 TRIBEUVAN UNIVERSITY . {Exam. LU Rmplar

___ INSTITUTE OF ENGINEERING Level | BE | Full Marks |
Examination Control Division | programme | ; ggr BEX. - E Pags Murks e
2069 Chaitra [ Year /Part | IVJT ! Time j3

Subjecf - Drgamzatmn and manggement (ME7GS)

7. Define the ‘term.Entrepreﬂeurship and explain the characteristios of EnmeprénemEhip'
B. Define Ma.uagam_t Information Systam, Describe briefly varions types of Manag®

 thoughts.
i,
" a) Computer aided Advertising

~¢) -Batisfaction progression Vs. Fmstration Regression Provess

. Define Organization. Explain the importance of Drg&uiz.atibn in society.

Candidates ave required ta give their snswers in their own words as far as prmﬂbﬂblﬁ
Aftempt A questions,

The fizures in the margin indicate Fufl Marks.

Assume suiterble data if necessary.

i+

Define the term Management and explain different levels of Managernent.

What do you mean by Joint Stovk Company? Explain the advantages and limitation
Joint Stock Compatry.,

What do you mear, by wotivation? Describe Maslow's h1eramh}r of needs briely-
Maslow's theory expla.m tireless quest of Laxmi Prasad Devkota for excellent lit

“warks?

Explain the process of recruitment and selection Df Llan power in an Orgﬂlmzatl‘-"n
do you mean by outzourcing in this context?

a} Explain different Teehnigues of Motivation. .
b} Define term contingency approach of Leadership,

Information System.
Silicon Valley is the best axampit: of sicessful E:ntrf:prfml?.urshlp Elabozate WIth

Write ghort notes on: (any twal

by Ohjectives of caze stmdy

ik




17 TRIBHLIVAN UNTVERSITY . [Ezam. Regnlar? Back

. INS[TTUTE OF ENGINEERTNG ~ [Layer  |[BE  |FullMarks (83 = -
Examination Control Division | programme EELT.- BEX,  passMarks |32 . |
. : ; - — ———— 1
'2D68 ‘Baishakh . Your /Part rIWI . “fime Ttes, L

Subject: - Grgamzatmn itlld Mm‘:agemant

LA

—

Canmdates are quumad to give thelr answrrs in their awn words as fiu' as practicable.
Arrempr teny Fhve .F.hre greasiions.

The figures in n the nuargtn indicete Fall Marks. .
Arsume suitable doti if neceszayy, o )

What is mtanmg of urgmuanun'? Expla.m Drga:u?'a.tmﬂ bﬁhaﬂﬂr as a mu]hd.lsmphuﬂ.qr
Beld Explmn the Scientific Management theory. . . S Lo arid!
What do you understend by pr:rlu}:,r and executive groups in an orgamization? 'Explain
fimctional urgamzatmﬂ What is responsibility and au‘rlwnty'? Bxplam mamx orpration

chart - _ - [4+4+3+5]
Why iz MIS necesaary for manaprment? Explain compter and MLS. What 1s mformation”
Architecturs? Explain databsse information systenl, _ [4+443+5]
Explain the twro factars theory of motivation. How can you determing the most effective
leadership style? Define the term infermal organization, _ {3+7+4]
[efine the term' personnel management, Explain the different factors of wage a:nd_sa]ar}r
stmeture. What are the methads of performance appraisals? - [4+8-+4]
Wnte short notes on; {Any Four) C [4x4]

a) Leadership stle ' '
T} Information systern for plamung DIOCEss

¢] Markeling concept

dl Datgbage miomation system

ey Incentive programs

P

. ey, ar
o o e ¥l R AT P a0 bt = —e 2 Ay R S T i L LR -
. v ) . ]

e T gy

pedlagete e e



17 TRIBTIUV AN UNIVERSITY Exam. i Re_glllar { Back

e —_———

INSTITUTE OF ENGINEERING | Level | BE | Foll Marks '| CN

Esamination Control Division |programme igg% BEX T s dhacks | 32

ANENRNE N

—

2068 Chaitra [Year/Pact (WIT 7 1Time REEN

Subjec.t‘ - Organization and Management

Candidates are required to give their answers in their own words as far as practicable.
Aftempt any Five questions.

The figures in the margin indicate Falf Marks,

Assume suitahle data if necessary.

. @) How can organization bchavier be affected by management? Explain all the elements

of an arganization. [4+4]
b} Define management. Explain contingency and syrtem approach of management, [3+5]
a) How are Policy group and Execmtive groups different in an organization?

Differentiates between marketing and purchasing. [4+4 ]
b} What is organization structure? Differentiate between responsibility and authority.

Explain functional organization with sketch. [2+3+3]
a) What is MIS? Why is higrarchy of information svstem oecessary in an argantzation?

Wrile ip brieF. [315]
h) Justify that infommation system is vital for plaoning and contol proeess in an

organization. 9]
a} What is motivation? Write differences between Maslow’s hicrarchical need and

Alderfer’s FRG theory of motivation, [3+5]
b] Why iz leadership necessary io an orpanization? Explain various leadership styles. [3+5]
a) What go you understand by personnel managernent? Explain job deseription. [4+4]
b} Explaip reeruitment and selection process in detadl. [#]
Write short notes on; (any four) F4xd]

a) Scientific Managemeint
b} Span of conlrol

o) Meeds for M8

d} Management by cbjective
e) Collective bargaining

L L
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Fio 17 TRIRHTITV AN INTVERSITY | ‘Examm. r RugularBack
INSTITUTE OF ENGINELRING Tevel  (BE_ | Full Mk T
2067 Ashadh “Year / Part |w,f1 ~ |7ime  T3bms |
- e Subfect: - Organization and Management \
L ¥ Candidates are required to give their answers in their own words as far as i}taclicuhlu.
— ' v Attempt any Five questions.
' v Fhe figurcs in the mavgin fndicate Full Marks,
¥ Astume suitable dofe i necessat.
{jﬂmcnﬂalu_hulwccn privale hmoiled and public Thnited company. Explain urgunization
_ chavirur as a rultidisciplinay Jeld, ¥What are the Topoctanes of coniogency theory of
o ) ~ managemenl? : . [5+4+7]
2. YWhat do you mean by purchasing and emarketing concepi? Fxplain fhe manufacturing '
methods i -edustrial orgonization What do vovr mean by span of contral in a line
| SHERE |

- orgsnizaicn”? .

M/F:xplam the importance of management infermation svstem. Diseuss the role of
- mfmmation in the planning process— W hatco-yen moean by nemraﬂ&m-ﬁ!mﬂhﬂa—qﬁm%ﬂ

— :
1! \-4/]{)£&31]ES the Herzberg's theory of motivalion. How will you determine the most effectives -
lcader in the husiness oraanization? Define the term infonmal organization. [G+6+4]

Explaitr-the -term job descripuon.- What aee the pruca&aas of collective bargaining?

o ---J'hs;:us.s fhe different steps of hiting and selscting staff, ! [4rbrt]
. Write short notes o (any fourk ' [ 44

a} Parincrship organizalion ;:
dwstrial relation i
-]l design angd weork efficiency [
= Funvlional organization i

g) Compuret ititegrated mamficturing plaris

Fx
j
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INSTITUTE OF SNGINEERING | Levg © BB PullMarks 77,
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BCTP : g
2066 Bhadra f__}'_aa!iiié!:?_____,_ AT time 13

Srfﬁg{'ac.{i (i huu” zation and Manage: I]LT1_

{landidates are required to grve thew answer: in thuic own words as for as precticanle.
Altempd ey Five gunilions.

~Tha Irgur.r_,ﬂ i the mﬂrgm indicare Full ] "-*f:u'k&

A5 szisre N 'au!; wheeris U"'.-me"e‘w&r} v

= o
/Whai do you mean by orgumization behaviour? Explain the functions of managsment.

Distuss the behavioural management theory, . [44-4 58]

“Diseuss the aclivitics of production development. What do you meun by industnial

relation? Define tha term line and staff organization. [3+6d 5]

Discuss the hierarchy of information needs. What are the role of information system for
decision making jnocess? Fxplain database information system. |3+5+4 3]

What are the motivational thenry. of Herzherg’s hygiene factors and motivationz] factors?
Discuss the bebavioural approach of 1ﬂad::rnh;p Detine the term anthority and power.  [H+555]

What do you mean by job analysis? Discuss the different steps of hiring and selecting
statf. Explain the methods of performance appraisal. [6+5+5]

Wride short noles any [owr of the fellowing: S : . [4=4]

- &) Contingency Managoment Theory

eeds for Manayement Irformation System (MIS) -

V,J.}"C_ontmganry Appmach of LBHdG’.Ebhl]:r

ey Tocenive Programs
¢y Walue of Case Study

£



1% TRIBHUY AN UNEVERSITY Exam,_  Resuar/Back____
INSTITUTE OF ENGINEERING Level i BE | Full Marks . 80
Examination Contrel Division : programme | gg‘; BEX, | pass Marks : 32
2065 Shrawan Year/Part |IV/1  [Tlme  3hs

NN

Subject: - Dré:;-rii_z:;ﬁ_ on and Méﬁ;i;g_ément

Candidates arc required to give their answers in their own words as far as practicable.
Attempt any Five quertions.

The figures in the margin Indivate Fall Marks.

Arsume suitabie data if necessary.

What do you mean by organization? Explain the importance of crganization in socisly.
Discuss the concept of scientific management theory. [3+5+8]

Explain different activities of production developmenl. What do you mean by

purchasing? Define the term responsibility and authorily. What do you mean by span of
control? : [5+3+5+3]

What do you mean by hierarchy of needs? Define fhe term information architecture.
Discuss the torm informalion system for plamming process. Explain the database

information system. T [4xd]

Define the term theory ‘X and theory *Y* in the motivation theory. Justify job design
improve work efficiency. What do vou mean by trait approach in leadership? [hseuss the
luiportance of participative management in organization. [5+3+4+4]

What do you mean by personal management? Define the term job-analysis. Discuss
defzrent steps of hinng and sclecting staff. What do you mean by coliective bargaining 3+5+5+3]

Write short notes any [our of the following: [dx4]

a) Single ownership organization

by Industrial relatton

¢} Networking inforpation systemm

d} Informal crganization ,
el Needs of MTS

ok
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17 TRIBHUVAN UMIVERSITY Exam. L Back
INSTITUTE OF ENGINEERING Level BE Full Marks | B0

_ BCT
2065 Eartik Year/Part [ IV/1 Time 3 hrs.

remrrn -

Subject: - Organization and Management

SN NENE

[

Candidates dre required to give their answers in their own words s far as practicable,
Artempt any Five questions.

The figures in the margin indicate Full Marks.

Agsume suitable data if necessary.

. What do you mean by scientific management theory? How does it differ from behavioral

approach? Explain organization is a multidisciplinary fiefd. [5+6+5]
What do you mesn by marketing? Explain the relation between marketing concept and
production development. What do you mean by indnstrial relation? [4+8+4]
What "do you mean by management information system? Explain the sources of data.
Define the term hierarchy of information needs and information system model. [4x4]
What iz motivation and why is it necessary in an orgmization? Explain MacGregor’s
theory X and theory Y of motivation. [4+4-+8]
Define the term Job analysis. How the personnel are selected in the organization explain?
Droes the job desig help to work efficiency comment? [3+8+5]
Write short notes any four of the following: © [4xd]

a) Organization as an open systam

b) Authority end responsibility

¢) Inforrnal organization

d) Information systern for decision makmg process
€) Performance appraisals

ik



16 TRIBHUVAN UNIVERSITY Fxam. s _ﬁﬂlﬁrﬂﬂ_k__ e
INSTITUTE OF ENGINEERING Level | BE " FullMacks ;80 |

Examination Control Division | programme | 5o BEX. . pass Marks 32
2064 Jeatha Year /Fart | IV/1 ~ Time L 3hra

..... e e E A S d e e i

Subject: - Organization and Management

———— e i ————————— -

¥" Candidates are required to give their answers in their own words as far as pracucahlc
v Attempt any Five questions.
¥' The figures in the margin indicate Full Marks.
v’ Assume suiteble data if necessary.
_1. Define the term organization, Explain organization as an open system. What do you mean
by management? Explain different function of management. [3+5+3+5]
2. What do you understand by division of labour? Define term span of control. Explain the
~ term authority and responsibility. [4+4+8]
~3. What is the contribution of computer in management information system? Explain the
role of software to on-line information systemn for planning process. [+
4. Explain different styles of leadership in brief. Which style you recommend as most
" effective leader in industrial organization? {10+6]
5. What do you mean by human resource management? Define the term collective
bargaining. Explain the process of collective bargaining. [5+5+8]
6. Write short notes any four of the following: - o ' [dxd]

a) Scientific management theory

b)- Industrial relation

c)+ Maslow's hierarchy of needs theory
d}° Information system model

e). Job analysis

e
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17 TRIBHLUVAN UNIVERS(TY  Exam. T  Back__

2064 Rartik Year /Part_ IV/1 Time 30

__ Subject: - Organization and Management

Candidates are required to give their angwers in their own words as far as practicable.
Astempt any Five questions,

All guestions carry equal marks.

Assume suitable data if necessary.

Define the terrn management and discuss the concept of Taylor’s seicntfic management
theory.

Whar do you mean by organization structure? Explain the meaning of responsibility and
authority.

What do you mean by hierarchy of information needs? Explain the mnformation system
for planning process.

Define the term ‘Motivation'. How does Macaregor's theory 3 and theary 'Y apply to
motivation? :

Whal do vou mean by job analysis? Explain different steps of hiriny and selecting staff.
Write short notes any two of the tblluwiﬁg:

4] Transactional Manﬂgement Modal
h)] Objective of Purchasing
o) Networiing Information System

ELE

ot

R

il -,\.h;



17 TRIGITLIV 4N UNIVERSITY Exam., | _________j' "Back L
INSTITUTE OF ENGINEERING Level [ BE T FaltMarks | 50,7 |
Exanﬁnatiun Control Division | programme EE!r BEX, | Pass Marks | 12 f
2063 Ashwin CYear/Part |IV/I |Til_lir_:__'““__"i_i_ﬁE{-_____:'

Suﬁjeﬂ' - Dr;,dmzatmn and Mdnak,emﬁ:nt

v Candidates are required to give their answers in their own words as far as practicuble.
¥ Attempt any Five questions.

v Al guestions carry equal imarks.

v Assume suitable data if necexyary.

—_

Exaplain the concept of managemenl in an mrg'mlmlmn and deseribe the level of
management in details. . :

2 Ts thete a need for leadership? Explain what provides the power of leaders over their
tollowers, Describe leadership styles in brief.

© 3. What metivates people at work? DLscnhe the Maslﬂw g hierarchy need and compare with
that ol Herzberg, : :

4. Describe the onporlance of hinng procedure in an orgatization and explain the steps ul
hiring in details. :
5. What is case study? Explain in details of stéps invelve in the case study.
. Wrile noles on {any threg) '
a) Qrganization
by Marckel Struciute '
¢} The Concept of Management lnfurm:mun Sysicm

d) Busincss Process and Information System
' HEE
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2062 Baishakh  Vear/Part |1V /1 : Time '3 hrs.

Subject: - Organization and Management

R L N

J

Candidates are required to give their angwers in thfur own words as far as practicable.
Atrempt any Five guestions.

All guestions carry egual marks.

Assume suitable data if necessary,

. Define the terms organization and management. What is a closed system? Explain

crganization as a open system.

What do you mean by production devslopment? Explain different activities of the
production development function.

What do you mean by information architecture? Explain information system for planning
ProCcess.

What do vou mean by leadership? Explain different teadership theodes you are familiar
with,

Define the term personnel management and explain different methods of performance
appraizal.

Write short potes any two of the following:

a) Behavioural Management Theory
b Industrial Relation
¢) Partcipative Management

R



1625 TRIBHGVAN UNIVERSITY Eom, ] Regutar / Back__ -
INSTITUTE OF ENGINEERING LeveE B.L. Full Marks { 30
Examination Conirol Division | programme gg{FBEK Pass Marks 532
2061 Saishakh Year/Part |1¥/1 Time T

—

Subject: - Organization arxd Management

# Candidates are required to pive their snswers in ther own words as far as practicable.
v Anenml e Five guestions.

< AN guestions corry equal marks.

¥ Azswne suttable data if necessary.

L/ Whst do vou mezan by management? Explain the diffeeent models of management.
2./ Diafine the term marketing and explain the importance of marketing management.

3, What is the contribution of computers for the management information system? Explain
netwoiking inforpiation svstem

4 ,What do you mean by participstive manapement? Explam the rote of informal
oryrnization in managenant, '

5/ What do vou mean by collective bargaining? Baplain the different process of coflective
barzaining.

&, Wiike short notes any two of the following:
Qﬁ Toome Stock Company
H Information Architecture
E)J Ine entive Programs
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16196 TRIBHUVAN UNIVERSITY | Exam. L Ragularfﬂaék::- T
- INSTITUTE OF ENGINEERING Level E.L. | Full Marks: =k
Examination Confrol Division | programme | hor 556 - l Pass Marks |32 5|
‘2059 Chaitra Year/Part | 1V/] | Time
o ‘Subject. - Organization and Managenient
- v Candidates are required (o give their anawers in thetr own words as faras pract:cable
¥ Attempt any Five questions. e I
v The figures in the margin indicate Full Marks. ST
- ¥ Aszume stitable data if necessary.
- J. “People dominated not by individual but by orpanization™, mmmem, L .-';::,
N ~Pefine the term policy and executive group and explain the manaperial ﬁ.maum
. at 13 the contrbution of computers in the Jmnﬂgamen‘f information systm‘? Explmn m -
= itportance of networking informetion system,
M}aﬁne the term motivation and explain the lheury of Maslow's }uemmh}' af needs. -, L
- \/ What do you mean by collective bargsining and explain the different pmms of m]lcrmru e
bargaining? et
6. Wriles shost notes any Lwo of the followings:
. \ﬁﬂ/ uthority and power
Informalion system model
"-\_ c} Cose stw:l}r .. s

HUHH
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Esamination Control Division | prgramme Ef{ 1 Pass Marks 1 3z |
. |
2041 Baishaki Year(Fart \IViT | Time ' 3hs |

: f .

Subject: - Orgamzation and Mgﬁagement

N

Ceoditate; are régiired to mve thedr answers in chei owm words as far as '.:ractlcebfe
Aczmpl anv Five gestions,

A guestions sarry egual marks,
~" arrng suitehle data i necessary

L

L Whst do vou mean by mandgement?

lain the different modals of managemen:.
—/Txhae the tiom marketing and explén the ioporiance of marketing manzgement.

3. “What 13 the ceninbution of cogfuters for the marzgement wformatton system? Explan
networking information syste

<_sWhat do vou mean by
rarganimfi::n It manapgar

I Informadon Architecturs
'j L‘lﬂen?:‘fe Programs

L L
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16413 TRIBHUYAN UNIVERSITY ' {Exam, ' chularfnnck %{.
INSTITUTE OF ENGINEERING |Level - | BE. { Full Marks’ ESEI T i

Examination Control Division | Programme | SE2BEN | pocs Marks | 5241

BCT :
2058 Chaitra | Year/Pant | IV/] Time | 3 hrs.

Subject: - Organization and Management

AANENAN

-

Candidates are required to give their answers in their onn words as far &5 practicable.
Attempt any Eive questions.

All guestions carry equal marks.
Assume suitable data i necessary.,

Define the term ‘Management” and-explain the varipus function of managemsnt. ST

2. What do you mean by organizational structure? Tixplain the salient features of Line

and staff ﬂrg.amz.auuq.

What is the contribation of computers fc}r the nmgm:mt information system?
Explain the importance of netwerking information system.

Defing the term “Motivation® and explain the Maslow’ ﬂmraﬁh}' of needs.

5. Wlat do you mean by salary structure and explain the ,d.fﬂ'erﬂn.t factors of wage and _

salan' stmcmr:" rL
Write short notes on any twvo of the following: : 'I' ;
a) Joint Stock Company . , L 4
) Infermal Organization . ' L

¢) Information Architecture

Tl L
it '
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: - 16/12-23 TRISHUVAK UKIVERSITY . Fiam. Repular / Back

- INSTITUTE OF ENGINEERING Level VBE. Full Marks § 30
_ Examination Control Pivision | Programme | BEL/BEX | Pass Marks | 32
- 2057 Chaitra Year /Part |IV/1 ! Time 3 hy

Subject: - Organization and Management

. ¥ Candidates are required to give their answers In their own words as far 2 practicable.
_—_— v\ Attempt any Five questions,
¥' Al guestions corry egual marks.

1. Discuss the concept of Elton Mayo's human relation movement.

- 2,
- 3,
~ 4,

| 5.
| 13

T

_ 2) COrpmization behaviour

Define the term “purchasing” and explain the relation betwveen marketing
management and purchasing procedure.

What do you mean by management informatioh syﬂmn? Explamn the hierarchy of

mformaticn needs, “
Destribe the term “ﬁuthunty and Power”, Explam tht: souress af power in the
mgamzaucm. e

What do you mean by performancs apprat els and 'ajpiaip ﬂm different methods of -

phfatmanc:: appraiszals,
Writz short notes on any two of the fﬂl]owm gs.

b) -Integrated appmac:hta]»:adcrslup
-::.) Iuh dcscnpunn . ST

kR
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Examination Control Division | Programme | BEX, BCT

2 TRBMUYAN UNVERSTY ot T
INSTITUTE OF ENGINEERING Level | BE | FallMarks 180 |

| Pass Marks | 32

20710 Chaitra Year/Part | IV/
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. Subject. - Project Management (CT701)

Candidales are required to give their angwars in their own words as far @5 practicable.
Attermpt Al gruestions,

The figures in the margin indicate Eall Marks,

Assume suitable daia if necessary.

a} List out the characleristica of a project. Explain the role of effoctive feasibility smdy
for the suceessfnl completion of a project.

b} What is the rele of project manager? What are $uggaﬂted glills for alf project
managers and for information technology project managers?

- a) What is project management ingtimte (PMD? How {3 it related two project

management? Discuss PMI framework in relation with project management.

by Explain with example the concept of drivers of project success and imhibitors of
project success,

a) Discuss the concept of project management process groaps (POz). How is it related to
project management knowledge ares? Give the example of two processes with
necessary inputs, toois and technigues and ourputs.

o) Define work break down strocture and its impottance in projeet management. What

are different ways/approaches to prepare & work breakdown strecture for a project?

a) What do you understand by Cuality planming, Cuelity Assurance and Quality
Control? Dxplain different approaches 1o these processes.

by Why better comununication management is critical for projects? Discuss (he
cornreunicgtion management plan that should be considered for ICT projects,

a) Explain the inteprated change control process in depth.
b} DeGne WES (echnigque in seope managemenl,

Reing an 1T projeet manager how are you going to manage an T hased project that
temands regular updntes with new trends in market.

Constder you are hired as a consultant in a 1T college where every year 50 students ane
admitied in 4 year proprem. You are asked to prepare a tender. Specification docutnient
for setting up a digitaf library 1o be set-up on that college. State vour all assumptions that
you will be making while preparing the docurment.

If schedule parfbrrrmﬁce index {8P1) is .75 in a mega project untiurgﬂing near Devikapur
district with earned walue of heing 60. Now calculate the planned value and also state
whether the project is ahead schedule or behind schedule.

Write shorl notes on: (any five)

a) Balanced Scorecard
b) Tornado znalysis
¢) Critical path analysis
d} Decision tree analysis
g) Trends in cloud computing
(3 Cumourcing and otf-shoring options
*¥

[ Time | [3hos.

[2+2]

[51

[4]

[2+3]

141
{51
[4]

(5]
[4]
3]

i3]

(6]

[5]
14x5]



- Eremination Contep) Dhvieion © Progrorre | BEX, BCT

2] . TRIEHUVAMN UNIVERIITY Eam. i

INSTFTUTE OF ENGINEERIMN G | Level BE | Full Marks | 80
| Pons “h’,fm-ks | 3> -

2070 Ashad Vear Part |(W/T ' Time  3mis

NENENEN

N

o .

- 16,

11.
12,
15.

q

1s.
18,

el uﬁ;er:r - Project Management (CTI01)

Candidates are requued to give their answers in their owm words as faI as pracnmhlﬁ

Attempt AL guestions. -
The figures in the margt ma’:care Full Marks
Assume suitable data if necessary.

L

Whatisa pm;ant'}' List qut its characteristies, S ' [2+2]
What afe different skill sets required by a project manager? Brmﬂ}r explaineach efthem. = [5]
Define pi'ﬂjﬂﬂt management body knowledge. o [£]
Explain about Project Management Institute Framewark. : ' 4]
What are the phases in pm_]m:t life c}rf:lc“"‘ How does a project life cycle differ from a

product 1ife cycle? _ _ 9]
Explain a Matrix Organfzatioh Structure with it's advantages and disadvantages. [4]

Discuss the concept’ of project manapement proeess groups (PGs). List down two
processes of project manapement process group with their inputs, mols and techniques

and putput. . [4]
Explain al}ﬂu.t Int&grated Change Contral in IT project develupmf:n’r. : 5]
Why is it important to determine activity sequencing on projects? Whet are dJ:EEere:ut

diagrama/methods that can be used 1o sequence activities in the project? (5}

Given the following information for -cme -vear project, use Eamed Value Mmmapement
(EVM} method to caleulate, cost variance, schedule variance, cost performanee index

{CIT) and Schedule performance index (SPT) for the pmy&ct : (6] -

Flanned Vahe = NPR 23 000 -

Earned Value = WNFR 20,000

Actual Cost = NPR 25,000 _
Budget at Completion = NPR 1,20,000

What iz a Maturity MUdE] for software development? Explain them. - [5]

Explam about the necessity of mfnrmat*on distribution _"*_T’Id iz fopls ord <ech "‘q::. 1]
What are different tools and techniques for risk idestification? Discuss brainstorming and

Delphi Teehnique for risk manspement. _ _ (4]
W];La‘g is & procurement process? How is it performed Hi a project? : ' _ [§+4]
Bliseuss about 1T project management methadology. _ : : ' [5]

Write shott note o [2=84]

a) Preojecl stakeholdens
b} Project manazevisnt infonmation system

‘w} {mtical Chain Scheduling

d) Culeraries of Risk

- &) Balanced Scorg Card

1 Constrestive Cost Model (0N

e ama e ] bl e = -




.o TRIGHITVAN UNIVERSITY [ Exam: ;
' INSTITUTE OF ENGINEERING Level  FEE | FullMarks [80
T Examination Control Division "'pp,gmr:-g;i'chg-ﬁﬁEle" Pags Marks | 32 !
2070 Ashad (Vear/Part{ | Vi1 Teme | b, |

Subject: - Project Engineefing (CE70])

v Candidates are required to give their angwers in thefr owm words as far as practicable.
Y Attempt AH questiona, '

v The figures in the margin indicate Full Marks.

v Assume suftable deja i necessary.

1. Differentiate between\Bilateral, Multilateral Joint Venture project with example? _
Discuss the external enwronment in which a prfject is operated. - [445)

2. Define conecept of project appraisal. Explaiy sbout contents. of technical and financial
proposal. Also gxplain inpit analysiz of projget formuledion. [2+7+3]

E.l.i

a) Construct the CPM netwirk for a projegt with foﬁﬁwﬁg activities: [16]

Activities AFBY € {D/I{E]JEI G H I

Predecessor | - | - NAB I |AJCIEF|TWF | GH | 1

Days a{7 N\ |2 21761 5 [ 8 1%
Find: ;

i) Crtical path
iy Project completion ttme

Free float (Fr), indep

b] Define the terms resource gsolree’ levelling limited resotrce aflogation
and work break structure. [2+2+2+2} .
4, g} Write the concept of Moniforing, Evatuation and Controlling and alse explain project
o [3+4]
b) Why cost confrol is important In project? I houses were to be completed in three
months with per unit cgst of Rs 25,00,000/-. 1 onz month 4 houscs were completed

6. Define the term projact . .
has total capital of Rsf5,00,000 which consists of 2000 shares @ Rs 100, 1,50,000
preference share 18% inferest end remaining loan @ 14%Interest. Earming before interast _
and tax in a year is Rs [{00,000. Caleulate EPS and book vhlue of sheare if tax rate is 25%.[2-4+41

Ees ' :
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] Sub;e:r.l‘ - Project Management (CT707)

¥ Candidates are required 1o give (heit answers in their own words as far as practicable.
v Attempt AN guestions,

¥ The figurex in the maryin indicate Falf Marks,

¥ Avsume suitable data if necessory.

1. What is a project. and what are ils main attributes? How is a project ditferent from what
most people do in their day-to-clay jobs? Discuss the specific atiributes thal are specific
to 1T related projects. [4]

2., What i a DProject Management Body of knowlsdpe? Explain Jifferenl general
< management skills necessary o be a gcnggl jrroject manager. {2+3}

3 What dogs it mean by the term "prgject munagement pl‘aﬂcﬂ'"? Discuss project
manapement frameworl az per the standard of Project Management Iostitute {(IPMI1) along L

with the coneept. [&]

& What is a Sofiwarc Development Life.Cycle (SDLC)? Explain any one of its kind that
you prefer in develﬂplng an TE preject. Why? b [245
5 ~Most of the project Tﬂllﬂws functiona] organicational structure. [f you agree, justify. i Jrs
L_ﬁr- 'EIISL-EIES about Project Management Process Groups. . L[ﬂ.]

7. Discuss the process of delindng project scope In more detail as a project progresses,

going [rom information in a project charter to a project scope statement, Wﬂ-} and WES
dm‘rwm:}' o (5]
\8_:,,%; is there necessity of Project Timg management? Explain how is thal performeds ‘ [1+4]
2. Wt 13 a cost estimating? Explain different tools and techniques used for cost estimating [1+4]

Rl ‘What do you understand by qual ity in the context of project management? Discuss

quality control process and its major outpuis. .- []
1. Why berter communication js_cfitical for iCT projects? Discuss the contents of
~7 communication manggement plan that should be considered. 15]
12_,#-’3"[’1’&1‘. is a Project Risk Management? Fxplain the processes involved briefly: . ° [5]
A3 Why are organization moving towards the trend of ontsourcing? Discuss the Lhdlfunges '
- of outsourcing. : [5]
14, What are the coles of award and assessment in achieving Excellency in project
© completion, Brigfly explain. - 5]
15. Write gshort notes on: . [3=3]
—g) Expert Judgement T~

b} Arrow Disgramming Melhod
c) Balance score card
LT LY
- al 4
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4. What 15 bmm:m'?{ ot FJT'I} hm. major roules dor he convirsion of bidrasss J]LFP\ and .

other usetil [nnduma FL11]

5. Describe the basic cnmtruciim-. of $olid-oxide fucl cells (SOBECs), - 14]
£, What ure the cHEIgY. ‘E:Tl]t’L“-"f tﬂdmulumvb” Why wnerity slorsge heoome clm]lengc in “‘1 o

CEnLUTY. _ o [2+2]
4 What ul]ﬂl"'lu -:‘ham-:ﬂ f{m‘f Jz:m Ra an'a.h]c Fperﬂ Techrm,ng|e< can help. hH- wmele R
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23 IRIBHUY AN UNIVERSITY : Exam.

O ——

INSTITUTE OF ENGINEERING | Level _ "BE___ ' Full Marks |

» » . . w P 1 . ] |
Examination Control Division | Programme | BEX, BCT PassMarks | 16
2078 Chaitra | Year /Part | IV/] Tinte L 4 . |

e S0tbject; - Energy Environment end Society EX70)
Condidates are required to give their answers in their own words as far as practicable.
Aftempr Al questions.

The figures in the margin indicate Full Mavis.

Assume sultable data i necessary.

A SCUENE Y

1. What do you mean by appropriate technology? Describe the impact of techmology on

society. 4]
2, What is the trend of consumption of energy sources in the waorld? Describe the
impariance ot renewable energy somurces? [2.5+2.5]
3. Define E number. How hiofuels differ fom other sources of encrgy? [1+3]
4. List put different [aciors affecting the solar intensity and applications of solar energy. [2+2]
5. What arc the minimum constructional requirements to develap a hydropower system? [4]
6. Whal arg lhe environmental mnpacts of wind machine? (4}
7. What is fuel cell? How does a salid axide Tuel cell work? 4]
8. The wide spread use of batteries has created many environmental concerns, Describe this
concept, (4]
9. Wiite briefly about the working principle of hybrid vehicles. Also discuss the
enviromnent impacts. 12+2]
10, How the energy crisis of owr eountry Nepal can be avoided? Describe its potential
solutions in shott. [3]
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23 TRIBEUVAN UNIVERSITY [Exam. w B
INSTITUTE OF ENGINEERING Level BE

Full Marks ©40

Examination Control Division : Programme | BEX, BCT

Pass Marls ' 16

2070 Ashad [ Wear TBart [TV/T.

Time . | 1%hee, }

SHIJ'_}EEI - Energy, Environment and Society (Fﬁbf}

RN L

.'L'-:r—‘-sﬂzu_—-

*

e ~oo

- g) CIasslﬂcatmn of hy&rupnwer plant :

Candidates are required 1o gve their answers in their own words as far as practicable.

Attempt Al questions. .
The figures in the margin indicate Fuli Marks.
Asrume sdtable data i necessary.

t

What do you understanid by ihie term "Appropriate Techrology"?
What are the conventional and non-conventional energy sources?
Write in short abmzt the working of a solar cell.

What is a source of hydropower? How can you categonzc the h}rdropowsr plants?
What is the major factor determining the availaliiity of wind pl:mer" What are ihe ma_]OI

components of wind turbine?

What is biomass? Write ¢:~:amp1¢ of any rwo different mnvcrsion of biomass inte fuel,

Write about battery along with the winking principle of anyone type.

Write briefly about the smission hazard and their fmpact.

Wr].te very briefly your ﬂxp-srr.aﬂ.ce on the case study you prerfﬂnned.

} Deﬁ_ue the following b."."lf:ﬂ}
4} Technology tranafer
b} Certified Emission Reduction
¢} Characteristics curve of solar cel]
d) SBolar dryar

+*

af

'k'l.

3]

£

B3]
S [1+2)

[1+3]
[24—2]
4]
“
2!

[2x5]




13 TRIBHUVAN UMIVERSITY - | Exam. -
INSTITUTE OF ENGINEERING, - j Level Db i Full Macks | 30

E"iﬂmlnﬂtlﬂﬂ Cﬂﬂtrﬂl DI‘F!SIDH ; Programmc | BEX, BTT 1—Pam Ma_ﬁ_:g Iﬁ" ST

2069 Chajtra. ~ F_Yearanrt P TV T ' J Time 1% hrs,

Subject: - Eﬁergy,‘Eﬂf&nﬂniént and society {EXF;EJ“U'_' '

SSRSENEY

Candidetes are rﬂqmr&d o give ﬂm: answers in their own words as far as prﬂcﬂcable

Attempt AR quastions.

The figures in the margin md;care Fuﬂ Marh

Assume suitable data :f RECESSArY.
1. What is a technology transfer? What fmpact technology has in your life? o {1.5+L5]
2. What is a ciean Devetupmv:nt Mechanism {CDM). What are thc potenh,al ¥eas of CDM

in Nepal? [2+2]
3. What do you understand by solar constant, global iradiation and pf:ak sun? B _{3]
4. What is geothermal f:nf:rgy'? Write down ifs applmatmm : i
5. Write briefly about briquette and biogas as energy sources in the context of Nepal. 4
6. What are fuel cells? Explain briefly its working. | R
7. What ae the potential hazard of batteries. How vou thmk this hazard can be prevented?  [2+1}
B, What are smart grid and super-capacitor? - _ [2+2}
9. Very mefly give your experience of the case study which you parfurm@d . {2]
i0. Define the following is not maore then three sentences. - . S - [2%3]

a) Appropriate te::hnuIc:g}f
by HDI

C} Bolar water heater

d) Hydrogen as fuel
e} Apphieation of Geothermal Energy

ot
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